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@Reasoningbybasantsir

Eight people P, Q, R, S, T, U, V and W are sitting
around a circle. All of them are facing the center
but not necessarily in the same order. P is sitting to
the second of T. S is sitting next to the left of R. U is
sitting opposite to W. W is sitting third to the left of
P. R is neighbour of neither W nor T. R is sitting
opposite to Q V is not a neighbour of Q.
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@Reasoningbybasantsir

Eight people P, Q, R, S, T, U, V and W are sitting
around a circle. All of them are facing the center
but not necessarily in the same order. P is sitting to
the second of T. S is sitting next to the left of R. U is
sitting opposite to W. W is sitting third to the left of
P. R is neighbour of neither W nor T. R is sitting
opposite to Q. V is not a neighbour of Q.

What is the position of T with respect to R?

1. Immediate left

2. Immediate right
3. Third to the right
4. Third to the left
S. None of the above



@Reasoningbybasantsir

Eight people P, Q, R, S, T, U, V and W are sitting
around a circle. All of them are facing the center
but not necessarily in the same order. P is sitting to
the second of T. S is sitting next to the left of R. U is
sitting opposite to W. W is sitting third to the left of
P. R is neighbour of neither W nor T. R is sitting
opposite to Q. V is not a neighbour of Q.

Which among the following statement is true?

1. V is sitting fifth to the left of R.

2. P is sitting opposite to R.

3. One person is sitting between Q and W.
4. R is third to the right of T

S. Q is sitting opposite to V



@Reasoningbybasantsir

Eight people P, Q, R, S, T, U, V and W are sitting
around a circle. All of them are facing the center
but not necessarily in the same order. P is sitting to
the second of T. S is sitting next to the left of R. U is
sitting opposite to W. W is sitting third to the left of
P. R is neighbour of neither W nor T. R is sitting
opposite to Q. V is not a neighbour of Q.

Who is sitting opposite to T?
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@Reasoningbybasantsir

Eight people P, Q, R, S, T, U, V and W are sitting
around a circle. All of them are facing the center
but not necessarily in the same order. P is sitting to
the second of T. S is sitting next to the left of R. U is
sitting opposite to W. W is sitting third to the left of
P. R is neighbour of neither W nor T. R is sitting
opposite to Q. V is not a neighbour of Q.

Who among the following is sitting next to right of
S?

1.R

GO 5 5 B
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@Reasoningbybasantsir

Eight people P, Q, R, S, T, U, V and W are sitting
around a circle. All of them are facing the center
but not necessarily in the same order. P is sitting to
the second of T. S is sitting next to the left of R. U is
sitting opposite to W. W is sitting third to the left of
P. R is neighbour of neither W nor T. R is sitting
opposite to Q. V is not a neighbour of Q.

How many persons are sitting between Q and U
when counted from the left of Q?

P05 8
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Statement:

Some stars are moon.
No moon are sun.
Only a few sun are planet.

Conclusion:
I. Some stars are sun.
I1. Some planet are sun.

1. Only I follows

2. Only II follows

3. None follows

4. Both follow

S. Either I or 11 follow.
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Statement:

All scales are pencil.
Some pencils are pens.
Some pens are not erasers.

Conclusion:
I. Some pens are scales.
I1. Some scales are pencil.

1. Only I follows.
2. Only II follows
3. Both follow

4. None follows
5. Either I or 11 follows



@Reasoningbybasantsir

Statement:

No grapes are lemons.

Only a few lemons are apple.
All apple are banana.

Conclusion:
I. All lemons are banana.
I1. Some lemons are not banana.

1. Only I follows
2. Only II follows
3. Either I or 11 follows

4. None follows
5. Both follow



Statement:

Some circle are square.
O SBI Only a few square are rectangle.
All circle are triangle.

Conclusion:
I. All rectangle being circle is a possibility.
I1. Some square are triangle.

1. Only I follow

2. Only II follow

3. Either I or II follow
4. Both follow

S. None follow

@Reasoningbybasantsir
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Statement:
Only a few tree are sparrow.
Some sparrow are bird.
No pigeon is sparrow.

Conclusion:
I. Some tree are bird.
I1. Some pigeon are bird.

1. Only I follows
2. Only II follows
3. Either I or II follow

4. None follows
5. Both follow



MNO ABD ATE POT KLO

If the second and the third letters are interchanged
within the given words, then how many words thus
formed will not end with a vowel?

Tt fou 7Y wTes # gAY R e sTer Wt e §
Tt fT S0, Y 38 YR 9+ fohaw ITes Ta) & AT
FUTH & FHr?

el
7 R SR
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MNO ABD ATE POT KLO

If words are arranged in the sequence they appear
in the dictionary from left to right, which word is
third from the right end?

aﬁmﬁ‘raﬁmﬁ U O (U hA § ST ud
fera =g, a‘rmaﬁ'{ﬁmmaﬁ?m%‘?

1. MNO
2. ABD
3. ATE
4. KLO
S. POT

@Reasoningbybasantsir



MNO ABD ATE POT KLO

If S is added in end of the each given word, how
many meaningful words will be formed?

Ife Teies foU 77U vTeg o 3fq & S WIS foaT =g, a@n
fohar 37Ut 975 T2

. No meaningtul word will be formed

A
AW -
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MNO ABD ATE POT KLO

If the letters in the given words are arranged as they
appear in a dictionary from right to left (within the word),
then how many letters, as in the English alphabet, are
there between the second letter of the third word from the
left end and the second letter of the fourth word from the
left end?

afe fou T sreat o STel R ST A 9T (T3 o Wiaw)

ITSEeh YT oh Wmﬁ%mw% GIREIY @ﬁ'{@r?ﬁ'@{
9768 o G e/ A= aﬁﬁaﬁwﬁmﬁmﬁ MR
27 311 AT B ¥ =TS 153 T TORT &7

1.10

2.12

3.13

4.7

S. None

@Reasoningbybasantsir



MNO ABD ATE POT KLO

If each consonant is changed to the previous letter
in the alphabetic series and vowel remains the
same, then how many words have more than one
vowel?

At Tk SN i TUTHTAT et § fUse ster |
aa?rrﬁm?rrqaﬁ'{waﬁi% AR TR AT A
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@Reasoningbybasantsir

In a certain code language:

'weather was bad' is written as 'rz ku st’

'it was raining’' is written as ' et wp ku'
'raining very heavily' is written as 'uk vn wp
'weather was balmy' is written as 'ku rz ap'

What is the code for 'weather'?
. St
. Iz

. ku

. Op
. uk

N £ W N -



@Reasoningbybasantsir

In a certain code language:

'weather was bad' is written as 'rz ku st’

'it was raining’' is written as ' et wp ku'
'raining very heavily' is written as 'uk vn wp
'weather was balmy' is written as 'ku rz ap'

What would be the possible code for 'very'?

1. uk
2.vn
RI Q]

4. wp
5. Either 1 or 2



@Reasoningbybasantsir

In a certain code language:

'weather was bad' is written as 'rz ku st’

'it was raining’' is written as ' et wp ku'
'raining very heavily' is written as 'uk vn wp
'weather was balmy' is written as 'ku rz ap'

If 'very high' is coded as 'uk zi' then what would be
the code for 'heavily'?

Iz
. uk
. VI

. Wp
. St

N £ W N -



@Reasoningbybasantsir

In a certain code language:

'weather was bad' is written as 'rz ku st’

'it was raining’' is written as ' et wp ku'
'raining very heavily' is written as 'uk vn wp
'weather was balmy' is written as 'ku rz ap'

What is the code for 'it was balmy' ?

. ap et wp
. ku wp et
. ap ku et
. ap vn uk
. ap ku rz

N £ W N -
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Eight friends A, B, C, D, E, F, G and H have to deliver lectures on
either the 6 or 17 of four different months among January, March,
April and July but not necessarily in the same order. Not more than
2 persons will give a lecture in a month. Only one person will
deliver a lecture each day. A delivers his lecture on the 6 of a month
which has only 31 days but not in the month of March. E delivers
the lecture immediately after B. Only three lectures were delivered
between A and B. Only two persons give lectures between F and C
and C is not the last one. The number of persons who give the
lecture after E is the same as the number of persons who give the
lecture before F. G and C give their lectures in the same month. D
gives the lecture before H.

TS W= A, B, C, D, E, F, G 3R H il S-aRT, |, 37U TR TS
% S SR STETT-STNT HElAT h 6 9T 17 ARG i SATGATH 3T 8
Teh STEL &1 Toh SET ShH | Bl Ueh HTE | 2 T 37Tereh sATh sATEaT=
T2 3| Uk 127 ShaeT Ueh STk SATEAT T A STUAT ST 39
TE kT 6 ARG k! 24T & et et 31 o 2 € wifer amel & we
H TE11 E, B o dich 9T SATEAT 2dT gl A 31X B o <l shael a9
ST U U 9| F 3R C % o1 ShaleT a1 sA{th sIEd™ 2d & 3R C
3iTqH =Tt~k 78T 21 E o 91E SATEAT™ 34 JTel ST <Rl ohl G&aT F 9
UEeT SITEAT & ATl ST <hi HEAT o OHE 8l G 3R C TH &
AEA W YAT ST a4 21 D, H ¥ Ugel 9T 2T 2
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Eight friends A, B, C, D, E, F, G and H have to deliver lectures on
either the 6 or 17 of four different months among January, March,
April and July but not necessarily in the same order. Not more than
2 persons will give a lecture in a month. Only one person will
deliver a lecture each day. A delivers his lecture on the 6 of a month
which has only 31 days but not in the month of March. E delivers
the lecture immediately after B. Only three lectures were delivered
between A and B. Only two persons give lectures between F and C
and C is not the last one. The number of persons who give the
lecture after E is the same as the number of persons who give the
lecture before F. G and C give their lectures in the same month. D
gives the lecture before H.

Who deliver the lecture on 17th April?

G 5 &2
QAW



@Reasoningbybasantsir

Eight friends A, B, C, D, E, F, G and H have to deliver lectures on
either the 6 or 17 of four different months among January, March,
April and July but not necessarily in the same order. Not more than
2 persons will give a lecture in a month. Only one person will
deliver a lecture each day. A delivers his lecture on the 6 of a month
which has only 31 days but not in the month of March. E delivers
the lecture immediately after B. Only three lectures were delivered
between A and B. Only two persons give lectures between F and C
and C is not the last one. The number of persons who give the
lecture after E is the same as the number of persons who give the
lecture before F. G and C give their lectures in the same month. D
gives the lecture before H.

Who among the following deliver the lecture immediately after D?

G 5 &2
SITQ» 0



@Reasoningbybasantsir

Eight friends A, B, C, D, E, F, G and H have to deliver lectures on
either the 6 or 17 of four different months among January, March,
April and July but not necessarily in the same order. Not more than
2 persons will give a lecture in a month. Only one person will
deliver a lecture each day. A delivers his lecture on the 6 of a month
which has only 31 days but not in the month of March. E delivers
the lecture immediately after B. Only three lectures were delivered
between A and B. Only two persons give lectures between F and C
and C is not the last one. The number of persons who give the
lecture after E is the same as the number of persons who give the
lecture before F. G and C give their lectures in the same month. D
gives the lecture before H.

How many lectures delivered after C?

1. Four
2. Two
3. One
4. Six
S. Five
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Eight friends A, B, C, D, E, F, G and H have to deliver lectures on
either the 6 or 17 of four different months among January, March,
April and July but not necessarily in the same order. Not more than
2 persons will give a lecture in a month. Only one person will
deliver a lecture each day. A delivers his lecture on the 6 of a month
which has only 31 days but not in the month of March. E delivers
the lecture immediately after B. Only three lectures were delivered
between A and B. Only two persons give lectures between F and C
and C is not the last one. The number of persons who give the
lecture after E is the same as the number of persons who give the
lecture before F. G and C give their lectures in the same month. D
gives the lecture before H.

Who deliver the lecture on 6th March?

G e
HIZAO®Q
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Eight friends A, B, C, D, E, F, G and H have to deliver lectures on
either the 6 or 17 of four different months among January, March,
April and July but not necessarily in the same order. Not more than
2 persons will give a lecture in a month. Only one person will
deliver a lecture each day. A delivers his lecture on the 6 of a month
which has only 31 days but not in the month of March. E delivers
the lecture immediately after B. Only three lectures were delivered
between A and B. Only two persons give lectures between F and C
and C is not the last one. The number of persons who give the
lecture after E is the same as the number of persons who give the
lecture before F. G and C give their lectures in the same month. D
gives the lecture before H.

How many person (s) deliver lectures between B and F?

1. One
2. Two
3. Three
4. Four
S. Five
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Eight Person P, Q, R, S, T, U, V and W are sitting in a
room in a single row with equal distances between each
other, but not necessarily in the same order. All of them
are facing north direction. Only one person sits between T
and P. Number of persons to the left of Q is one less than to
the right of Q. Two persons sit between T and S. V sits
second to the right of U. T sits immediate left of Q. W is
not an immediate neighbour of V.

AR AP, Q, R, S, T, U, V 3R W Uk &hHI H Uk UTwh U
I3 § AR 37k 1T AU T 3, Tk &I 81 {oh SHT wa |
BNl 37 Aot 1 g 3T faiT <Y 3T B1 T IR P o s e
Ueh STk S3dT 8l Q o T 3T S hal Al &A1 Q F EH |
Ueh W B1 T 37 S o s 21 safvh S3d §l V, U 6 IR A
TATT R G3aT Bl T, Q ok dieh I3t TR A3AT 21 . W, V &7
frerean ugiEt T B
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Eight Person P, Q, R, S, T, U, V and W are sitting in a
room in a single row with equal distances between each
other, but not necessarily in the same order. All of them
are facing north direction. Only one person sits between T
and P. Number of persons to the left of Q is one less than to
the right of Q. Two persons sit between T and S. V sits
second to the right of U. T sits immediate left of Q. W is
not an immediate neighbour of V.

Who sits immediate left of Q?

1.P

B
<g®



@Reasoningbybasantsir

Eight Person P, Q, R, S, T, U, V and W are sitting in a
room in a single row with equal distances between each
other, but not necessarily in the same order. All of them
are facing north direction. Only one person sits between T
and P. Number of persons to the left of Q is one less than to
the right of Q. Two persons sit between T and S. V sits
second to the right of U. T sits immediate left of Q. W is
not an immediate neighbour of V.

Which of the following statement is false?

1. P sits at one of end of the row.

2. U sits immediate left of S.

3. There are two persons between U and R.

4. No one sits between W and T.

5. Only one person sits to the right of S.
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Eight Person P, Q, R, S, T, U, V and W are sitting in a
room in a single row with equal distances between each
other, but not necessarily in the same order. All of them
are facing north direction. Only one person sits between T
and P. Number of persons to the left of Q is one less than to
the right of Q. Two persons sit between T and S. V sits
second to the right of U. T sits immediate left of Q. W is
not an immediate neighbour of V.

How many persons sits between T and R?

1. One

2. Two

3. Three

4. Four

S. No one



@Reasoningbybasantsir

Eight Person P, Q, R, S, T, U, V and W are sitting in a
room in a single row with equal distances between each
other, but not necessarily in the same order. All of them
are facing north direction. Only one person sits between T
and P. Number of persons to the left of Q is one less than to
the right of Q. Two persons sit between T and S. V sits
second to the right of U. T sits immediate left of Q. W is
not an immediate neighbour of V.

Who sits at extreme end of the row?
1. W

G = 2
c=nZx
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Eight Person P, Q, R, S, T, U, V and W are sitting in a
room in a single row with equal distances between each
other, but not necessarily in the same order. All of them
are facing north direction. Only one person sits between T
and P. Number of persons to the left of Q is one less than to
the right of Q. Two persons sit between T and S. V sits
second to the right of U. T sits immediate left of Q. W is
not an immediate neighbour of V.

Four of the five are alike in certain way and form a group.
Find the one which does not belongs to the group.

1.P, W

o, T

S
Q
T

N W
roac =
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